Everdigm ECD45

EHD-210A & EHD210A RP Drifter Spare Parts

No |Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks
ECDA45 EHD-210A | AD212-0002 |DRIFTER ASSY 1
1 ECD45 EHD-210A | AD161-0064 [BOLT 2
2 ECDA45 EHD-210A | AD161-0057 |NUT 2
3 ECD45 EHD-210A | AD161-0070 |[NUT 2
4 ECDA45 EHD-210A | AD150-0057 |WASHER 2
5 ECD45 EHD-210A | AD161-0055 [BOLT 4
6 ECDA45 EHD-210A | AD150-0024 |NUT 4
7 ECD45 EHD-210A | AD150-0023 |[NUT 4
8 ECDA45 EHD-210A | AD161-0065 |[BOLT 3 M20
9 ECD45 EHD-210A S5111112 [SPRING WASHER 3 M20
10 ECDA45 EHD-210A 52215861 |[SOCKET BOLT 4 M12x1.75XL60-12.9T
11 ECD45 EHD-210A |A015-0003D012)DISK LOCK WASHER 2 H101~H105
12 ECDA45 EHD-210A | AD161-0062 |BOLT 4
13 ECD45 EHD-210A | AD161-0063 |WASHER 4
14 ECDA45 EHD-210A | AD161-0059 |THRUST RING 1
15 ECD45 EHD-210A 58011001 [O-RING 1 JIS G100-HsA90
16 ECDA45 EHD-210A S8011151 |O-RING 1 JIS G115-HsA90
100 ECDA45 EHD-210A | AD212-0004 |CYLINDER ASSY 1
150 ECD45 EHD-210A | AD212-0007 |IDAMPING BLOCK ASSY 1
200 ECDA45 EHD-210A | AD212-0012 |CYLINDER BUSH ASSY 1
250 ECDA45 EHD-210A | AD161-0004 |BACK HEAD ASSY 1
251 ECDA45 EHD-210A | AD161-0016 |BACK HEAD 1
252 ECDA45 EHD-210A S8010651 |O-RING 1 JIS G65-HSA90
300 ECD45 EHD-210A | AD212-0008 |[ROTATION BLOCK ASSY 1
350 ECD45 EHD-210A | AD161-0006 |ROTATION SUPPORT BLOCK ASSY | 1
450 ECD45 EHD-210A | AD212-0041 |AIR FLUSHING BLOCK ASSY | 1
500 ECDA45 EHD-210A | AD212-0009 [MOTOR SUB ASSY 1
550 ECD45 EHD-210A | AD161-0010 |ACCUMULATOR ASSY HP| 1
600 ECDA45 EHD-210A | AD161-0011 |ACCUMULATOR ASSY LP| 1
ECDA45 EHD-210A RP| AD212-0001 |DRIFTER ASSY 1
ECDA45 EHD-210A RP| AD212-0055 |DRIFTER ASSY 1 A Type [H201~]
1 ECDA45 EHD-210A RP| AD161-0056 |LOWER THROUGH BOLT 2
2 ECDA45 EHD-210A RP| AD161-0057 |NUT 2
3 ECDA45 EHD-210A RP| AD161-0070 |NUT 2
4 ECDA45 EHD-210A RP| AD150-0057 |WASHER 2
5 ECDA45 EHD-210A RP| AD161-0055 |BOLT 4
6 ECDA45 EHD-210A RP| AD150-0024 |NUT 4
7 ECDA45 EHD-210A RP| AD150-0023 |NUT 4
8 ECD45 EHD-210A RP| AD161-0065 |BOLT 3 M?20xL60
Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd. 1/6




No [Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks
9 ECD45 EHD-210A RP] S5111112 [SPRING WASHER 3 M20
10 ECD45 EHD-210A RP[ S2215861 |SOCKET BOLT 4 M12x1.75XL60-12.9T
11 ECD45 EHD-210A RP|A015-0003D012|DISK LOCK WASHER 2
12 ECD45 EHD-210A RP| AD161-0062 [BOLT 4
13 ECD45 EHD-210A RP| AD161-0063 [WASHER 4
100 ECD45 EHD-210A RP| AD212-0004 [CYLINDER ASSY 1

ECD45 EHD-210A RP| AD212-0051 [CYLINDER ASSY 1 A Type [H201~]
150 ECD45 EHD-210A RP| AD212-0007 [DAMPING BLOCK ASSY 1

ECD45
200 ECD45 EHD-210A RP| AD212-0012 [CYLINDER BUSH ASSY 1

ECD45 EHD-210A RP| AD212-0053 [CYLINDER BUSH ASSY 1 A Type [H201~]
250 ECD45 EHD-210A RP| AD161-0004 [BACK HEAD 1
251 ECD45 EHD-210A RP| AD161-0016 [BACK HEAD 1
252 ECD45 EHD-210A RP| S8010651 [O-RING 1 JIS G65-HsA90
300 ECD45 EHD-210A RP| AD212-0008 [ROTATION BLOCK ASSY | 1
350 ECD45 EHD-210A RP| AD161-0006 [ROTATION SUPPORT BLOCK| 1
400 ECD45 EHD-210A RP| AD212-0005 [RP BLOCK ASSY 1
450 ECD45 EHD-210A RP| AD212-0041 [AIR FLUSHING BLOCK 1
500 ECD45 EHD-210A RP| AD212-0009 [MOTOR SUB ASSY 1
550 ECD45 EHD-210A RP| AD161-0010 [ACCUMULATOR ASSY HP| 1
600 ECD45 EHD-210A RP| AD161-0011 [ACCUMULATOR ASSY LP| 1
100 ECD45 EHD-210A | AD212-0004 |CYLINDER ASSY 1

ECD45 EHD-210A | AD212-0051 |CYLINDER ASSY 1 A Type [H201~]
101 ECD45 EHD-210A | AD212-0032 |CYLINDER 1

ECD45 EHD-210A | AD212-0050 |CYLINDER 1 A Type [H201~]
102 ECD45 EHD-210A | AD212-0029 |PISTON 1

ECD45 EHD-210A | AD212-0052 |PISTON 1 A Type [H201~]
103 ECDA45 EHD-210A | AA053-0099 |U-PACKING 1
104 ECD45 EHD-210A | AA054-0132 |DUST SEAL 1
105 ECD45 EHD-210A | AA082-0023 |SPEED VALVE ASSY 1
106 ECD45 EHD-210A | A061-0015 |PLUG 1 BSP 3/4
107 ECD45 EHD-210A | A061-0003 |[PLUG 9 BSP 1/2
108 ECD45 EHD-210A |2181-1890D003|PLUG 2 BSP 3/8
109 ECD45 EHD-210A | A061-0034 |PLUG 8 BSP 1/4
110 ECD45 EHD-210A |A016-0001D004|HELI-COIL 7
111 ECD45 EHD-210A |AA016-0001D001|HEL I-COIL 8
112 ECD45 EHD-210A | AD161-0027 |VALVE CAP-RH 1
113 ECD45 EHD-210A | AD161-0028 |VALVE CAP-LH 1
114 ECD45 EHD-210A | AD161-0029 |VALVE 1
115 ECD45 EHD-210A S8000241 |O-RING 1 JIS P24-HsA90
116 ECD45 EHD-210A S8000181 |O-RING 9 JIS P18-HsA90
117 ECD45 EHD-210A S8000141 |O-RING 2 JIS P14-HsA90
118 ECD45 EHD-210A S8000111 |O-RING 8 JIS P11-HsA90
119 ECD45 EHD-210A S8010951 |O-RING 1 JIS G95-HsA90]
120 ECD45 EHD-210A S8010251 |O-RING 2 JIS G25-HsA90|

Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd.

2/6



No [Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks
121 ECDA45 EHD-210A S8090251 [BACKUP RING 1 for JIS G25-HsA90
122 ECD45 EHD-210A 58010401 |O-RING 2 JIS G40-HsA90
123 ECD45 EHD-210A S0162761 |HEX. BOLT 8 M14x2.0XL40-10.9T
124 ECDA45 EHD-210A 55100712 |SPRING WASHER 8 M14
125 ECDA45 EHD-210A S2212161 [SOCKET BOLT 3 M10x1.5XL28-10.9T|
150 ECD45 EHD-210A | AD212-0007 |DAMPING BLOCK ASSY 1
151 ECD45 EHD-210A | AD161-0014 |DAMPING BLOCK 1
152 ECD45 EHD-210A | AD212-0010 |DAMPER ASSY 1 [R AD212-0070]
ECD45 EHD-210A | AD212-0070 |DAMPER ASSY 1 H226~
152-1 ECD45 EHD-210A | AD212-0015 |DAMPER 1 [R AD212-0068]
ECD45 EHD-210A | AD212-0068 [DAMPER for [AD212-0070], H226~
152-2 ECD45 EHD-210A | AD212-0016 |DAMPER INNER BUSH 1
152-3 ECD45 EHD-210A | AD212-0017 |RETAING RING 1
153 ECD45 EHD-210A | AD212-0014 |DAMPER UPPER BUSH 1
ECD45 EHD-210A | AD212-0069 [DAMPER UPPER BUSH 1 for [AD212-0070], H226~
154 ECDA45 EHD-210A | AD212-0013 |DAMPER LOWER BUSH 1
155 ECD45 EHD-210A | AA056-0006 |STEP SEAL 2
156 ECD45 EHD-210A 58010951 |O-RING 1 JIS G95-HsA90
157 ECD45 EHD-210A S8011051 |[O-RING 2 JIS G105-HsA90
158 ECDA45 EHD-210A |A053-0085D008|STATIC SEAL 2
159 ECD45 EHD-210A | AA056-0005 |STEP SEAL 1
160 ECDA45 EHD-210A | AA054-0132 [DUST SEAL 1
200 ECDA45 EHD-210A | AD212-0012 |[CYLINDER BUSH ASSY 1
ECD45 EHD-210A | AD212-0053 |CYLINDER BUSH ASSY 1 A Type [H201~]
201 ECDA45 EHD-210A | AD212-0018 [CYLINDER BUSH 1
ECD45 EHD-210A | AD212-0054 |CYLINDER BUSH 1 for A Type [H201~]
202 ECDA45 EHD-210A | AA056-0025 |STEP SEAL 2
ECD45 EHD-210A | AA056-0035 |STEP SEAL 2 for A Type [H201~]
203 ECD45 EHD-210A 58010651 |O-RING 2 JIS G65-HsA90
300 ECDA45 EHD-210A | AD212-0008 |[ROTATION BLOCK ASSY 1
301 ECD45 EHD-210A | AD212-0011 |ROTATION BLOCK 1
302 ECDA45 EHD-210A | AD212-0019 [THRUST BUSH 1
303 ECD45 EHD-210A | AD212-0020 |DRIVE GEAR ASSY 1
303-1 ECDA45 EHD-210A | AD161-0038 [DRIVE GEAR 1
303-2 ECD45 EHD-210A | AD161-0095 |SPLINED BUSH 1
303-3 ECDA45 EHD-210A | AD161-0040 |RETAINING RING 1
303-4 ECD45 EHD-210A | AD212-0022 |LINER 1
304 ECDA45 EHD-210A | AD212-0021 [PINION 1
305 ECD45 EHD-210A | AD161-0043 |WASHER 1
306 ECDA45 EHD-210A | AD161-0044 [NEEDLE BEARING 1
307 ECD45 EHD-210A D1120900 |BREARING 2
308 ECDA45 EHD-210A 58011051 |O-RING 1 JIS G105-HsA90
309 ECD45 EHD-210A |A053-0085D008|STATIC SEAL 2
310 ECDA45 EHD-210A (2181-1116D001{PLUG 1 BSPT 1/8
311 ECD45 EHD-210A S6710051 |[GREASE NIPPLE 1 PT 1/4
350 ECDA45 EHD-210A | AD161-0006 [ROTATION SUPPORT BLOCK ASSY 1 for Basic
350 ECDA45 EHD-210A | AD161-0074 |[ROTATION SUPPORT BLOCKASSY | 1 for RP
Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd. 3/6




No [Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks
351 ECD45 EHD-210A | AD161-0019 [ROTATION SUPPORT BLOCK| 1
352 ECDA45 EHD-210A | AD161-0043 |WASHER 1
353 ECD45 EHD-210A | AD161-0045 |WASHER 1
354 ECDA45 EHD-210A | AD161-0044 [NEEDLE BEARING 1
355 ECD45 EHD-210A |A053-0085D008|STATIC SEAL 4
356 ECD45 EHD-210A |AA016-0001D004{HEL I-COIL 2
357 ECD45 EHD-210A |[2181-1116D001|PLUG 2 BSPT 1/8, for [AD161-0006]
358 ECD45 EHD-210A |A053-0085D010[STATIC SEAL 2 for [AD161-0074]
400 ECD45 EHD-210A RP| AD212-0005 |RP BLOCK ASSY 1
401 ECD45 EHD-210A RP| AD161-0025 |RP BLOCK 1
402 ECD45 EHD-210A RP| AD212-0023 |RP PISTON 1
403 ECD45 EHD-210A RP| AD212-0024 |RP UPPER BUSH 1
404 ECD45 EHD-210A RP| AD212-0025 |RP LOWER BUSH 1
405 ECD45 EHD-210A RP| AA053-0115 |U-PACKING 1
406 ECD45 EHD-210A RP| AA053-0116 |U-PACKING 1
407 ECDA45 EHD-210A RP| AA054-0145 [DUST SEAL 1
408 ECD45 EHD-210A RP| AA054-0146 |DUST SEAL 1
409 ECDA45 EHD-210A RP|A053-0085D008|STATIC SEAL 2
410 ECD45 EHD-210A RP| S8011001 [O-RING 1 JIS G100-HsA90
411 ECDA45 EHD-210A RP| S8011151 |O-RING 6 JIS G115-HsA90
412 ECD45 EHD-210A RP|2181-1890D003|PLUG 1 BSP 3/8, for [AD161-0025D]
413 ECDA45 EHD-210A RP| S8000141 |O-RING 1 for [AD161-0025D]
450 ECDA45 EHD-210A | AD212-0041 [AIR FLUSHING BLOCK ASSY | 1 for Air Flushing
450 ECDA45 EHD-210A | AD212-0048 |AIR FLUSHING BLOCK ASSY | 1 for Water Flushing
451 ECDA45 EHD-210A | AD212-0026 [AIR FLUSHING BLOCK 1
451 ECD45 EHD-210A | AD212-0047 |AIR FLUSHING BLOCK 1 for Water Flushing
452 ECDA45 EHD-210A | AD212-0027 |GUIDE BUSH 1
453 ECD45 EHD-210A | AD210-0030 |RETAING RING 1
454 ECDA45 EHD-210A | AA053-0078 |U-PACKING 2
455 ECDA45 EHD-210A | AA053-0085 |U-PACKING 2 for [AD212-0048]
456 ECDA45 EHD-210A | AA053-0091 |U-PACKING 1 for [AD212-0048]
500 ECDA45 EHD-210A | AD212-0009 [MOTOR ASSY 1
501 ECD45 EHD-210A | AD212-0028 |ORBIT MOTOR 1
502 ECDA45 EHD-210A 58130420 |O-RING 1 AS568-042-Hs70
503 ECD45 EHD-210A D1006005 |FLANGE 1
504 ECDA45 EHD-210A D1006006 |[BOLT 2
505 ECD45 EHD-210A S8000181 |[O-RING 2 JIS P18-HsA90
506 ECDA45 EHD-210A 58000241 |O-RING 2 JIS P24-HsA90
507 ECD45 EHD-210A | AD150-0092 |SOCKET BOLT 4 M12x1.75XL40-12.9T
508 ECDA45 EHD-210A |A015-0003D012|DISK LOCK WASHER 4 M12
509 ECD45 EHD-210A | AA015-0024 |WASHER 4 M12
550 ECD45 EHD-210A | AD161-0010 [ACCUMULATOR ASSY -HP| 1
551 ECDA45 EHD-210A | AD161-0049 [ACCUMULATOR BODY -HP| 1
552 ECD45 EHD-210A | AD161-0050 |ACCUMULATOR COVER 1
553 ECDA45 EHD-210A | AD161-0051 [DIAPHRAGM 1
554 ECD45 EHD-210A | AD161-0052 |CAP 1
555 ECDA45 EHD-210A A062-0105 |MINIMESS COUPLING 1

Driven by our values :

Honesty, Integrity, Accountability, Quality and Service Excellence!!!!

ERG Korea CO., Ltd. 4/6




No [Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks

556 ECD45 EHD-210A [A015-0003D020[DISK LOCK WASHER 4

557 ECD45 EHD-210A | A011-0015 [SOCKET BOLT 4

558 ECD45 EHD-210A | S8000291 [O-RING 1 JIS P29-HsA90

559 ECD45 EHD-210A | S8000701 [O-RING 1 JIS P70-HsA90

560 ECD45 EHD-210A | A052-0007 |BACKUP RING 1

600 ECD45 EHD-210A | AD161-0011 [ACCUMULATOR ASSY -LP| 1

601 ECD45 EHD-210A | AD161-0053 [ACCUMULATOR BODY - LP| 1

602 ECD45 EHD-210A | AD161-0050 [ACCUMULATOR COVER | 1

603 ECD45 EHD-210A | AD161-0051 [DIAPHRAGM 1

604 ECD45 EHD-210A | AD161-0052 [CAP 1

605 ECD45 EHD-210A | A062-0105 [MINIMESS COUPLING 1

606 ECD45 EHD-210A |A015-0003D020{DISK LOCK WASHER 4

607 ECD45 EHD-210A | A011-0015 [SOCKET BOLT 4 M20

608 ECD45 EHD-210A | S8000291 [O-RING 1 JIS P29-HsA90

609 ECD45 EHD-210A | S8000701 [O-RING 1 JIS P70-HsA90

610 ECD45 EHD-210A | A052-0007 |BACKUP RING 1
ECDA45 EHD-210A RP| AD212-0036 [SEAL KIT FOR RP KL+K3+K4+K5+KE+K7
ECD45 |EHD-210A RP| AD212-0058 |[SEAL KIT FOR RP A TYPE e KaAK KKK (4201
ECD45 K1 AD212-0037 |PERCUSSION PART SEAL KIT 1
ECD45 AA053-0099 |U-PACKING 1
ECD45 AA054-0132 |DUST SEAL 1
ECD45 AA056-0025 [STEP SEAL 2
ECD45 S8000111 |O-RING 8 JIS P11-HsA90
ECD45 S8000141 |O-RING 2 JIS P14-HsA90
ECD45 S8000181 |O-RING 9 JIS P18-HsA90
ECD45 S8000241 |O-RING 1 JIS P24-HsA90
ECD45 S8010251 |O-RING 2 JIS G25-HsA90|
ECD45 $8010401 |O-RING 2 JIS G40-HsA90|
ECD45 S8010651 |O-RING 3 JIS G65-HsA90|
ECD45 S8010951 |O-RING 1 JIS G95-HsA90|
ECD45 S8090251 |BACKUP RING 1 for JIS G25-H5A90, Bias-cut
ECD45 K2 AD212-0071 |PERCUSSION PART SEAL KIT 1 for A Type [H201~]
ECD45 AA053-0099 |U-PACKING 1
ECD45 AA054-0132 |DUST SEAL 1
ECD45 AA056-0035 [STEP SEAL 2
ECD45 S8000111 |O-RING 8 JIS P11-HsA90
ECD45 S8000141 |O-RING 2 JIS P14-HsA90
ECD45 S8000181 |O-RING 9 JIS P18-HsA90
ECD45 S8000241 |O-RING 1 JIS P24-HsA90
ECD45 $8010251 |O-RING 2 JIS G25-HsA90|
ECD45 $8010401 |O-RING 2 JIS G40-HsA90|
ECD45 S8010651 |O-RING 3 JIS G65-HsA90|
ECD45 S8010951 |O-RING 1 JIS G95-HsA90|
ECD45 S8090251 |BACKUP RING 1 for JIS G25-HsA90, Bias-cut
ECD45 K3 AD212-0038 |[DAMPING BLOCK SEALKIT| 1

Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd.

5/6



No [Crawler Drill Drfter Part Number Part Name Q'ty | UnitPrice Remarks
ECDA45 AA054-0132 |DUST SEAL 1
ECD45 AA056-0005 |STEP SEAL 1
ECDA45 AA056-0006 |STEP SEAL 2
ECD45 A053-0085D008[STATIC SEAL 2
ECD45 S8010951 |O-RING 1 JIS G95-HsA90
ECD45 S8011051 |O-RING 2 JIS G105-HsA90
ECD45 K4 AD161-0079 |ROTATION BLOCK SEALKIT| 1
ECDA45 A053-0085D008[STATIC SEAL 6
ECD45 S8011051 |O-RING 1 JIS G105-HsA90
ECD45 S8000241 |O-RING 2 JIS P24-HsA90
ECD45 S8000181 |O-RING 2 JIS P18-HsA90
ECDA45 S8130420 |O-RING 1 AS568-042-Hs70
ECDA45 K5 AD212-0039 |RP BLOCK SEAL KIT 1
ECD45 AA053-0115 |U-PACKING 1
ECD45 AA053-0116 |U-PACKING 1
ECD45 AA054-0145 |DUST SEAL 1
ECD45 AA054-0146 |DUST SEAL 1
ECD45 A053-0085D008|STATIC SEAL 2
ECD45 A053-0085D010[STATIC SEAL 2
ECD45 S8011151 |O-RING 6 JIS G115-HsA90
ECD45 S8000141 |O-RING 1 JIS P14-HsA90
ECD45 K6 AD212-0040 |AIR FLUSHING BLOCK SEALKIT| 1
ECDA45 AA053-0078 |U-PACKING 2
ECD45 AA053-0085 |U-PACKING 2 for Water Flushing
ECD45 S8011001 |O-RING 1 JIS G100-HsA90
ECD45 S8011151 |O-RING 1 JIS G115-HsA90
ECD45 K7 AD161-0082 |ACCUMULATOR SEALKIT| 2
ECDA45 S8000291 |O-RING 1 JIS P29-HsA90
ECD45 S8000701 |O-RING 1 JIS P70-HsA90
ECDA45 A052-0007 [BACKUP RING 1
ECD45 EHD-210A | AD212-0062 |SHANK T45*L605 1 Basic
ECDA45 EHD-210A | AD212-0063 |[SHANK T51*L605 Basic
ECD45 EHD-210A RP| AD212-0065 [SHANK T45*L741 RP
ECD45 EHD-210A RP| AD212-0066 |SHANK T51*L741 RP
ECD45 EHD-210A RP| AD212-0060 [SHANK T45*L741 Water Flushing
ECD45 EHD-210A RP| AD212-0061 |SHANK T51*L741 Water Flushing

Driven by our values :
Honesty, Integrity, Accountability, Quality and Service Excellence!!!!
ERG Korea CO., Ltd.

6/6




